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Q.No: 1 | Identify the phrase used in the following sentence:

Hating homework, Shyam put off doing it until late at night

|A ‘At night
|B ‘ Hating homework
c Doing it

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 2 | Which one of the following options correctly converts the sentence into indirect speech?

The teacher said, "Have you completed the homework?"

|B ‘The teacher said if I had completed the homework.
|C ‘The teacher told that had I completed the homework.
| D ‘The teacher asked if I have completed the homework.

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 3 | Choose the option that will make the sentence grammatically correct and meaningfully complete.
The police who came for the investigation saw the broken .

| A ‘ playing

B e
| C ‘ pain

| D ‘ paying

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 4 | Select the meaning of the following idiom/phrase:

At one's wit's end.

|A ‘ End of laughter
|B ‘ Having suicidal thoughts
|C ‘ End of happiness

| Previous Answer :: D
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| Final/Revised Answer :: D

Q.No: 5 |Read the following paragraph and answer the questions given.

A group may be defined as an organised system of two or more individuals, who are interacting and
interdependent, who have common motives, have a set of role relationships among its members, and
have norms that regulate the behaviour of its members. Groups have the following salient characteristics:
. A social unit consisting of two or more individuals who perceive themselves as belonging to the group.

. A collection of individuals who have common motives and goals

What are some of the common features of a group?

| A ‘ Perception
| B ‘ Regulation of behaviours
|C ‘ Role of relationships

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 6 ‘ Identify the correctly punctuated sentence.

|A ‘ He likes to play the guitar, and, she likes to play the violin.
| B ‘ He likes to play the guitar and she likes to play the violin?
| D ‘ He likes to play the Guitar and She likes to play the Violin.

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 7 | Choose the option that will make the sentence grammatically correct and meaningfully complete.

I am waiting for my friend. ____is coming late.
|A ‘That
B It
©se
| D ‘They

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 8 | Read the following paragraph and answer the questions given.
A group may be defined as an organised system of two or more individuals, who are interacting and
interdependent, who have common motives, have a set of role relationships among its members, and
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have norms that regulate the behaviour of its members. Groups have the following salient characteristics:
. A social unit consisting of two or more individuals who perceive themselves as belonging to the group.
. A collection of individuals who have common motives and goals.

How many individuals from a group?

|B ‘Three or more
c Minimum of 10
| D ‘ Five or more

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 9 | Choose the option which gives the proper sequence of the parts which are labelled A, B, C and D to
produce a correct and meaningful sentence.

A. The conservation status of animals
B. of ecosystems and their biodiversity.
C. is a widely used indicator

D. for assessing the condition

A | ABDC
B |ABCD
c 'DBCA

| Previous Answer :: D

| Final/Revised Answer :: D

Q.No: 10 | Complete the sentence using the correct preposition.

The Sun shines _____ the day.
A e
| B ‘at
|C ‘ in
o by

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 11 ‘Choose the option which spells the word correctly.

| A ‘ Defiantely
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| B ‘ Definately
c Definitly

| Previous Answer :: D

| Final/Revised Answer :: D

Q.No: 12 | Choose the pair of words that will make the sentence grammatically correct and meaningfully complete.

Doctors, lawyers and Chartered Accountants that advertising their
profession unfavorably.

| B ‘ beliefs, effects
|C ‘argue, increases
| D ‘state, damages

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 13 ‘What is the antonym of "Cease"?

|A ‘Stop

|B ‘Capture

©  comtnee
|D ‘ Painful

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 14 | Complete the sentence using the correct article.

Dogs make great pets.

|A ‘The

B An

€ Neartide
L A

| Previous Answer :: C

| Final/Revised Answer :: C

‘Q.No: 15 ‘Choose the pair of words that will make the sentence grammatically correct and meaningfully complete.
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| ‘An unprejudiced person others without any ,

|A ‘fears, cause

|B ‘Iikes, reason

©  guagesbias
|D ‘blames, reason

| Previous Answer :: C

| Final/Revised Answer :: C

‘Q.No: 16 ‘ Find the value of 90 - 3{2{} & {Sﬂ N (30 L lﬂ}}]

A 40

B 60

© e
D 10

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 17 ‘ Find the 27 term of the arithmetic sequence 5, 8, 11, 54,..

B 72
c 89
D 34

| Previous Answer :: A

|Question Final Status :: Question is nullified, one mark awarded.

|Q.No: 18 ‘The formula to calculate the surface area of a cuboid is:

A B

B 2mebhsn)
c 6a?

D [(1*b*h)

| Previous Answer :: B

| Final/Revised Answer :: B

Abdul and Ahmed are playing a game of chess. The probability that Abdul will win is 0.48. The

Q.No: 19
‘ probability that neither will win is 0.14. What is the probability that Ahmed will win?




JKSSB Assistant Compiler Last year Question Paper By JKYouth

www.jkyouth.com

A 0.48

B 0.62

D 0.14

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 20 | A cube of side 8 cm is cut into a number of cubes, each of side 2 cm. Find out the number of smaller
cubes that you will get.

|A ‘512 cubes

|B ‘46 cubes

|D ‘27 cubes

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 21 | A sphere of iron with radius 3 cm and a cylinder of diameter 4 cm and length 10 cm were melted and
the material was reshaped into a cone with base radius 3 cm. Find the height of the cone.

3

B 241
9
] 78
2 cim
67
— 1t
D 3

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 22 | The radii of the top and bottom of a bucket of slant height 20 cm are 14 cm and 6 cm respectively. The
curved surface area of the bucket is:

w
A 840 cm?

T
1680 cm?

T
c 542 cm?
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| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 23 ‘A man buys an article for Rs. 20 and sells it for Rs 34. Find his gain percent.

A 14%

B 0%
c 7%

D 75%

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 24 ‘The graph of the equation 5x+6y=2 represents

|A ‘A straight line through (-2,-2)
|C ‘A circle passing through point (-1,1)
|D ‘A parabola passing through (-2,1)

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 25 |Keshav invested Rs 72,000 in a bank at the rate of 4% per annum. At simple interest, he got Rs 92160.
How long did he invest the money?

|A ‘ 9 years

| Cc ‘ 8 years

| D ‘ 10 years

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 26 | 150 note pads were bought at the rate of Rs. 600 and sold at the rate of 24 per dozen. Find the loss
percentage
A 40%

c 133.33%
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D 11.11%

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 27 | Solving the following pair of linear equations using elimination method
X+2y=1,2x+y=1

we get
1
X = ;,}’
1
B X=1,}"
1
C x=g;}'
e 1 _1
D =t 3,}}_3

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 28 ‘The compound interest on Rs 16000 at 20% per annum for 9 months, compounded quarterly is:

A Rs 2400
B Rs 3000
c Rs 2522
D Rs 8000

| Previous Answer :: C

| Final/Revised Answer :: C

‘Q.No: 29 | A sphere of diameter 36 cm is dropped into a cylindrical vessel of diameter 72 cm, partly filled with
water. If the sphere is completely submerged, find out how high the water level will rise (in cm).

|A ‘ 3 cms

| B ‘ 36 cms

| C ‘ 4 cms

| Previous Answer :: D

| Final/Revised Answer :: D
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|Q.No: 30 ‘If the selling price is 70% of the cost price, calculate the loss %.

A 42.45%

Boosee
c 33.33%

D 1 70%

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 31 ‘Moderates demanded reforms through?

| B ‘ Political activities
|C ‘ Educated masses
| D ‘ Political speeches

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 32 ‘Why is 16th October 1905 called the 'day of mourning'

|A ‘Start of the Swadeshi movement leading to the exit of the British from India
|B ‘Starting of the Sepoy Mutiny
|D ‘ Hanging of Mangal Pandey

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 33 ‘Where was Mahatma Gandhi on 15th August 19477

|A ‘ Lahore
B Delhi
|C ‘ Bombay

| Previous Answer :: D

| Final/Revised Answer :: D
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|Q.No: 34 ‘When was Mangal Pandey hanged to death?

A '3 July 1857

B 9 May 1857

c 29 March 1857
D 10 May 1857

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 35 ‘What was the British motive behind the partition of Bengal?

|A ‘Stop public meetings
B TodividetheBengalipeople
|C ‘Welfare of the people
| D ‘Stopping of violence

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 36 ‘The Indian National Congress was earlier known as?

|B ‘ National Center
|C ‘Indian National Union
|D ‘ National Education

| Previous Answer :: C

| Final/Revised Answer :: C

‘Q.No: 37 | In which book did Mahatma Gandhi declare that British rule was established in India with the
cooperation of Indians, and had survived only because of this cooperation?

|A ‘Quit India

|B ‘ Non-cooperation Movement

|C ‘ Hind Swaraj

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 38 ‘Who passed the historic Quit India resolution on 14 July 19427
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|A ‘ Jayprakash Narayan

|B ‘AII India Muslim League

|D ‘ Mahatma Gandhi

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 39 ‘When was the Khilafat movement launched?

B 1918
c 11919
D 11921

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 40 ‘Who was unwilling to boycott the council elections planned on November 19207

|A ‘AII India Muslim League
|B ‘Congress
|C ‘ Legislative councils

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 41 ‘In Poorna Sarvajanik Sabha, the word Sarvajanik means?

|A ‘Serve the people

B ANthepeople
|C ‘ Help the people

| D ‘Train the people

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 42 ‘What did the Swadeshi movement trigger?

| A ‘ Socialism

| B ‘ Political extremism
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| D ‘ Resistance

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 43 ‘As part of the new Act of 1858, which one of the following changes was made by British?

|A ‘ More Indian soldiers were appointed
|B ‘Tax imposed was increased
|C ‘ Indian rulers were allowed to rule their kingdom freely

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 44 ‘Who was the Punjab Premier and leader of the Unionist Party in 1941?

|B ‘ Mohammad Igbal
c Igbal Ahmed
| D ‘ Mohammad Ali Jinnah

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 45 ‘ Name the person who was against the creation of linguistic states?

|A ‘ Potti Sriramulu
|B ‘ H.J. Khandekar
c Jawaharlal Nehru

| Previous Answer :: C

| Final/Revised Answer :: C

Q.No: 46 | "Many forms of Government have been tried, and will be tried in this world of sin and woe. No one
pretends that democracy is perfect or all-wise. Indeed it has been said that democracy is the worst form
of Government except for all those other forms that have been tried from time to time..." the following
words were said by

A | Adolf Hitler

|B ‘ Donald Trump
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c Winston S Churchil

|D ‘Johan Hari

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 47 ‘ How many languages are recognized in the Indian Constitution

B 21
c 20
D 25

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 48 ‘The panchayat works under the overall supervision of the

|A ‘ Ruling Party in the State

B smteGovemment
|C ‘Gram Sabha

| D ‘ Local Leaders

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 49 ‘One can register oneself on the electoral rolls by filling up

A ‘Form 17 A
|B ‘Form 7
|C ‘Form 14 A
|D ‘Form6

| Previous Answer :: D

| Final/Revised Answer :: D

Q.No: 50 |In the 1934 Legislative Assembly elections of the erstwhile state of Jammu and Kashmir, the following
people were not included in the voting process

|A ‘ Pensioned officers

|B ‘Medical practitioners

| Cc ‘ Women in general
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| D ‘ Priests

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 51 ‘Who scrutinizes the nomination papers filed by the candidates, for the Presidential elections in India?

|A ‘The Chief Election Commissioner.
|B ‘The Prime Minister.
|C ‘The Chief Justice of the Supreme Court.

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 52 ‘ How many countries are member of the United Nations?

A 1135
B 1
c 156
D 144

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 53 ‘ Right to property was removed by the Act
|A ‘ 45'™ Constitutional Amendment
| B ‘ 56" Constitutional Amendment
|C ‘46th Constitutional Amendment

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 54 ‘ Black-glove and raised clenched fists is a symbol of

|A ‘Women power in Africa

B BlackpowerinAmerica
|C ‘Women power in America

| D ‘ Men power in America

| Previous Answer :: B
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| Final/Revised Answer :: B

|Q.No: 55 ‘When was the Representation of People's Act passed?

A 1951
B 11956
c 11950

| Previous Answer :: A

| Final/Revised Answer :: A,C

|Q.No: 56 ‘Which one of the following statements, is true?

|A ‘ Public opinion contradicts democracy.
|C ‘ Public opinion can have an impact on law enforcement.
| D ‘ Public opinion is the voice of the minority over the majority.

| Previous Answer :: C

|Question Final Status :: Question is nullified, one mark awarded.

|Q.No: 57 ‘Which was the 11™ fundamental duty added to the Constitution?

|A ‘ Right to information about all the Government proceedings
| B ‘ Every daughter has equal right in the share of ancestral property
| D ‘ Right to punish cruel behavior towards women, either by the husband or his relatives.

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 58 ‘Which of the following statements is NOT true?

| B ‘ Directive Principles pushes the Government to do certain things
|C ‘ Fundamental Rights holds back the Government from doing certain things
| D ‘ Directive Principles & Fundamental Rights are complementary to each other

| Previous Answer :: A

| Final/Revised Answer :: A
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Q.No: 59 |Is there restriction on the amount that a candidate can spend for campaigning in a constituency, during
a Lok Sabha election?

|B ‘Yes, no party or candidate can spend more than 10 lakhs in a constituency

C No, Parties can spend as much as they want, as long as they give all accounts to the Election
Commission.

|D ‘ No, there is no limit on the amount that can be spent on campaigning

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 60 ‘Which of the following is NOT a duty of the election commission?

|A ‘Announcing date for nomination
|B ‘Allotting symbol to the political parties
| D ‘Announcing last date for withdrawing from contesting

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 61 ‘What will the Z-Morh Tunnel connect

|B ‘Gagangir to Sonamarg in Kashir
|C ‘Jammu to Udhampur
|D ‘Srinagar to Banihal

| Previous Answer :: B

| Final/Revised Answer :: B

‘Q.No: 62 ‘The Wildlife Protection Act to protect the wildlife in Jammu and Kashmir came into being in

?
A 1962
B w78
c 11969
D 11971

| Previous Answer :: B

| Final/Revised Answer :: B
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|Q No: 63 ‘The total forest area of Jammu, Kashmir and Ladakhis __ ?

|B ‘approxnmately around 20000 Sg.km

|C ‘approximately around 10000 Sg.km

|D ‘approximately around 30000 Sg.km

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 64 ‘Which of the following was declared as a Dwarf Planet in 2006?

A Eris

B Rwe
|C ‘ Easter Bunny

|D ‘ Haumea

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 65 ‘What is the name of the lake in Kashmir which is shaped like a kidney?

|A ‘Dal lake

B Amamsariake
|C ‘Anchar lake

|D ‘Wular lake

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 66 ‘Which of the following does NOT belong to the five forest types of the Jammu -Kashmir- Ladakh region?

|A ‘ Himalayan Moist Temperate
|B ‘Subtropical Dry Evergreen
|C ‘ Himalayan Dry Temperate

| Previous Answer :: D

| Final/Revised Answer :: D
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|Q.No: 67 ‘What percentage of the overall amount of water on the planet is contributed to, by Freshwater?

A2

LIE
© oz
o e

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 68 ‘Which lake is situate in the flood plains of river Jhelum and is an ox bow type of water body?

|A ‘ Hokersar

|B ‘Wular

©  Amansar
|D ‘ Dal

| Previous Answer :: C

| Final/Revised Answer :: C

‘Q.No: 69 | What is the name of the watershed development project sponsored by the Central Government that
aims to help rural people conserve water for drinking, irrigation, fisheries and afforestation.

|A ‘ Narmada Bachao Andolan

|B ‘ Neeru - Meeru

|C ‘Arvary Pani Sansad

| D ‘ Haryali

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 70 ‘What type of vegetation dominates the lower altitudes of Kazinag?

| B ‘ Coniferous forest
| C ‘ Rainforest
| D ‘ Mediterranean forest

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 71 ‘A traditional method of rainwater harvesting is
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|A ‘ canal
| B ‘ contour bund
|C ‘ rooftop rainwater harvesting

| Previous Answer :: D

| Final/Revised Answer :: C,D

|Q.No: 72 ‘To boost tourism and lead to socio-economic growth for the people of Jammu and Kashmir,

|A ‘ new airports are coming up
|C ‘ industries are being set up
| D ‘security is being tightened

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 73 ‘Of the following, which one of them is NOT a factor which leads to soil degradation.

| A ‘ Over-grazing
| B ‘ Use of chemical pesticides and fertilizers
| C ‘ Deforestation

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 74 ‘The agency working on the "Srinagar to Banihal" project is

|A ‘ Northern Railways

|B ‘Central Public Works Department

|C ‘ National Highways Authority of India
| D ‘Airport Authority of India Limited

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 75 ‘Of the following, which is a suitable factor for maintaining a healthy coffee plantation?

|A ‘Alluvial soil

|B ‘ Heavy rainfall
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|C ‘Loamy soil
|D ‘High temperature

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 76 ‘ BRICS was earlier known as BRIC. Which of the following is responsible for the addition of 'S' here?

| A ‘ Spain

| B ‘ Sweden

©  seutawica
| D ‘ Switzerland

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 77 ‘Which of the following organizations had released the first ever report over the world's hearing?

A |UNESCO

B 1LO

© wwo
D ‘wro

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 78 ‘What is the official currency of Spain as of March 2021?

|A ‘ Rupee
|B ‘ Dollar
© me
|D ‘ Pound

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 79 ‘ In which of the following cities is the statue of Christ the Redeemer located?

| B ‘ Buenos Aires

| C ‘ Albuquerque

| D ‘ Costa Rica
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| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 80 ‘Which of the following is the largest rice exporter in the world as of 2018-19?

|A ‘Japan
|B ‘Germany
|C ‘Thailand

| Previous Answer :: D

| Final/Revised Answer :: D

Tarapur Atomic Power Station is the first commercial nuclear power plant of India, located in the state of

‘Q.No:81

|A ‘ Karnataka

|C ‘Tamil Nadu

| D ‘ Andhra Pradesh

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 82 | Oscars is the popular name of the honors awarded for artistic and technical merit in the film industry.
What is its official name?

|A ‘Grammy Awards

B AddemyAwards
|C ‘Golden Globes

|D ‘ Filmfare Awards

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 83 ‘When was the International Labour Organization founded?

B 11921
c 11920
D 1918

| Previous Answer :: A
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| Final/Revised Answer :: A

|Q.No: 84 ‘ How many designated capital cities does South Africa have?

A s
B2
c 3
o

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 85 ‘When was Mother Teresa awarded with the Nobel Peace Prize?

A 11997
B 1985
c 11979
D 11989

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 86 ‘Which is the only Asian country in the G7 as of 20207

|A ‘Singapore
|B ‘India
c China

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 87 ‘When did Vasco da Gama first land in India?

A 1497
B 1496
©  wss
D 11499

| Previous Answer :: C

| Final/Revised Answer :: C




JKSSB Assistant Compiler Last year Question Paper By JKYouth

www.jkyouth.com

|Q.No: 88 ‘What is the full form of SIM in relation to mobile devices?

|A ‘Subscriber Identification Manual
|C ‘Subscriber Identification Model
| D ‘Subscriber Information Mobile

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 89 ‘What is the national sport of Nepal?

| A ‘ Football
| B ‘ Hockey
© welleypan
| D ‘ Cricket

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 90 ‘Chandrayaan 2 was launched on 22nd July 2019 from which of the following space centers?

|A ‘Vikram Sarabhai Space Centre
|C ‘ U R Rao Satellite Centre
| D ‘ Liquid Propulsion Systems Centre

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 91 ‘Who is the first Indian woman to climb Mount Everest 5 times?

|A ‘Anshu Jamsenpa
| B ‘Santosh Yadav
|C ‘Bachendri Pal

| Previous Answer :: A

| Final/Revised Answer :: A
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|Q.No: 92 ‘Which of the following states has its official language as 'Bodo'?

| A ‘ Nagaland

B Asam
| C ‘ Tripura

| D ‘ Mizoram

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 93 ‘The first Jnanpith Award was awarded to G. Sankara Kurup, in the year .

A 11965
B 1966
c 1964
D 11963

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 94 ‘When did the organization "League of Nations" cease to exist?

A April, 1941
|B ‘January, 1946
c February, 1941
D April, 1946

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 95 ‘ allows the comparison of the world currencies in terms of their purchasing power.

|B ‘Currency denomination ratings

|C ‘ National economic ratings index

| D ‘ Per capita parity

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 96 ‘ Identify the scientific name of Kashmir stag.

|A ‘Cervus elaphus hanglu
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| B ‘ Rynchops albicollis

|C ‘ Hypolycaena narada

| D ‘ Nilgiritragus hylocrius

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 97 ‘Who amongst the following carved out Kashmir out of the Kabul Subah?

| B ‘ Jehangir
c | Akbar
| D ‘ Aurangzeb

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 98 ‘Which of the following is known as the Meadow of Flowers?

|A ‘Shalimar
|B ‘Champa
|C ‘Sonammarg

| Previous Answer :: D

| Final/Revised Answer :: D

Q.No: 99 | Which of the following is required to qualify for the membership of the legislative assembly of J&K?

I) Being 25 years or above of age
II) Indian nationality
III) Born in the state of J&K

A Only I1 & III
B Lmam
c Only 1&111
D Only I&1I

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 100 ‘What is the term duration of the Sarpanch, Naib-Sarpanch and Panch of the Halga Panchayat?

|A ‘3 years
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|B ‘Gyears
|C ‘4years

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 101 | When did the first Anglo-Sikh war get started?

A 1875
B 1834
c 1867

| Previous Answer :: D

| Final/Revised Answer :: D

|Q.No: 102 ‘Which of the following resulted in Jammu & Kashmir becoming a single political & geographical entity?

|A ‘Treaty of Jaipur

| B ‘Treaty of Shimla

©  TeayofAmeitsar
| D ‘Treaty of Srinagar

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 103 ‘Who is the second Lieutenant Governor of the UT of Jammu & Kashmir?

|B ‘ Kiran Bedi
|C ‘Madanlal Khurana
|D ‘Vimal Jalan

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 104 ‘ First Summer Olympian from the UT of J & K Chain Singh belongs to which of the following games?

|A ‘ Shooting

| B ‘ Archery

| C ‘ Bridge
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|D ‘Chess

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 105 ‘ Under which of the following railway zones does the Jammu region fall into?

| B ‘ North Frontier zone
|C ‘ North Western zone
| D ‘ North Central zone

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 106 ‘Sheshnag lake is located in which of the following districts?

|A ‘ Pulwama

|B ‘ Kupwara

©  anamnag
|D ‘ Kulgam

| Previous Answer :: C

| Final/Revised Answer :: C

|Q.No: 107 ‘What was the first railway line built in the region of Jammu & Kashmir?

|B ‘Jammu - Pune
|C ‘Jammu - New Delhi
|D ‘Jammu - Patiala

| Previous Answer :: A

| Final/Revised Answer :: A

|Q.No: 108 ‘ Raja Hari Singh belonged to which of the following dynasties?

|A ‘ Pawar dynasty
| B ‘Sisodia dynasty
|C ‘Singh dynasty

| Previous Answer :: D
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| Final/Revised Answer :: D

|Q.No: 109 ‘Which of the following crops is primarily responsible for the production of silk?

| A ‘ Apple

B Mubey
| Cc ‘ Strawberry

| D ‘ Cranberry

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 110 | Sheikh Abdullah was associated with which of the following political parties?

|B ‘Indian National Lok Dal
|C ‘ People's Democratic Party
|D ‘ Bhartiya Janata Party

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 111 | Look at the series and find the next number?

50,43,36,29,?

B 23
c 26
D 27

| Previous Answer :: A

| Final/Revised Answer :: A

If the distance between two cities is 159 kms and it takes me 3 hours to travel these cities, then what
speed did I travel at?

‘Q.No: 112

B 45 km/h
c 55 kmy/h
D 125 km/h

| Previous Answer :: A
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| Final/Revised Answer :: A

Q.No: 113 | There was a fight between friends regarding who got the highest marks in the exam. The three friends
Aman, Raman and Naman gave following statements to another friend Raju.

Raju has to decide who has got the highest marks based on the statements made by them.

They gave following statement:

Aman: I got the highest mark.

Raman: I got the highest mark.

Naman: Aman got the highest mark.

Who has got the highest marks, if only one of the above statements is true?

A Raju

|B ‘ Raman |
©aman
|D ‘ Naman

| Previous Answer :: B

| Final/Revised Answer :: B

Q.No: 114 | A man left the office and started walking. After walking 22 m, he took left and continued walking. After
walking a distance of 20 m, the man again took left and walked for 10 m. He then again took left and
stopped after walking a distance of 25 m. How far is the man from his office now?

B 25 m
c 17 m
D 20m

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 115 | If the number '8564' is coded as '529' and '3248' is coded as '289', then how would the number '5471'
be coded?

B 1289

c 256

D 361

| Previous Answer :: B

| Final/Revised Answer :: B
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Q.No: 116 |Jagdish started driving from his home and drove 2.5 km, and then took a left turn and drove straight
for 2.5 km. He then took another left to drive 2.5 km towards north and then took a right and reached
his office after driving for 1.5 km. In which direction is his office with respect to his home?

B North-East
| C ‘ South
| D ‘ North

| Previous Answer :: A

| Final/Revised Answer :: A

Q.No: 117 | Complete the below series.

Z,V,R, L3
A L
B M

C
N

| Previous Answer :: D

| Final/Revised Answer :: D

Q.No: 118 | If 'train' is called 'aeroplane', 'aeroplane' is called 'helicopter', 'helicopter' is called 'rocket’, 'rocket’ is
called 'car' and 'car' is called 'train’, then which is the fastest mode of transport among them?

|A ‘ Rocket

| C ‘ Helicopter

| D ‘Aeroplane

| Previous Answer :: B

| Final/Revised Answer :: B

|Q.No: 119 ‘S is K's wife. A is K's daughter. D is A's sister. Therefore, how is S related to D?

|A ‘DisauntofS
| B ‘S is daughter of D
|C ‘ D is sister of S

| Previous Answer :: D
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| Final/Revised Answer :: D

‘Q.No: 120 | Complete the analogy.
6:216:: 9:?
A 343
B 79
c 512
D 11000

| Previous Answer :: B

| Final/Revised Answer :: B




